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Q1. Complete the table of values for y
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Q2. Show that any straight line that passes through the point (1, 2) must intersect the curve
with equation x* + y* == 16 at two points.
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Write the values of the following

a) Draw the line having gradient 2 and passes through (1,2) , find the solution for the straight
line and the circle. |
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X(x — 3) for values of x from 0 to 5

Q3. Complete the table of values for y
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On the grid draw the graph of y
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Using your result for (a)

y =Xx(x-3)
X2+ )2
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Q4. Copy and complete the table for the graph of y = x* — 5x + 4 for -2 < x <5.

5 v 0 2 4
-y 18 4 | i -
b. Use your graph to find the value of y when x = -0.5.
c. Use your graph to find the values of x that give a y-value of 3.
Q5. Complete the table of values for y = x?+ x — 3
X —4 —3 -2 —1 1 2
y o -1 —3 3

Q6. On the grid above, draw the graph of y = x*+ x — 3 for values of x from —4 to 2
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Drawing cubic graph.

Q7 . Complete the following table and draw the cubic graph y = x°

X -2 -1 0 1 2

_ a)y =X —5x + 1

X -2 -1 0 1 2

b) y = 2x° — 3x* — 5x

X -2 -1 0 1 2

Drawing reciprocal graph.
Q8 . Draw the graph of the following functions.
a) y= 1/x b) y = 2/x Cc)y = 3/X

Drawing Circle.

Q9 . Draw the following circles on the graph paper.

Circle in the form of x* + y* = /2

a)xX*+y°=9 b) x* + y* = 16 c) xX°+y* =25

d) x* + y* = 36 e)x*+y°=12.25 f) x°+y° =1
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